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I Continued discussion of X»n’"7’s ruling —
a  Reinterpreting the support from our mwn as relating to a different ruling of X»n '3 - “R»n "7 190":
i If: A claims that B owes him a nin and B admits to ¥ and offers it to him on the spot — "79n” — still ny1awa a»n
it Support from Aywp: in our case, his holding on to %2 is akin to 7»’n and he is still liable for an oath
ili  Dissent (nww 79): in such a case, 79’0 is 703
1 Reason: the 50 to which he admits is as if the m%n already has them and the nn5 denied any debt
2 Challenge: our mwn;
(a) Answer (@”7): our mwn is a unique LNIN MpPN (per 1AM ")
(b) Response (8711 77): mnon wouldn’t have made a nipn unless the n1n obligated in a similar case
iv  Challenge : if a 70V states (e.g.) 1727 (in the plural) and the nm%n claims it was 5 and the m% -3
1  ~7w7 since the N% was nxpna n7In, he must take an oath to the rest
2 p”r Y is considered n7ar wn (since 1127 would’ve only obligated him to pay 2 and he admitted to 3)
3 Version #1 of the challenge: from 82w~ (to 87711 77)
(a) inference: only because he volunteered “3” must he swear; had he agreed with “2”, he’d be exempt
(i) Even though: he admitted to the validity of the 1vw, akin to 72>n = 7109 190
(b) Defense: even had he said “2” he’d be 27n; “3” was picked to counter »"’s considering him n7axr 2wn
(i) Challenge: why does 82w argue that “since he was nx¥pna n7in he must swear”? He should’ve
stated “even this one must swear” (to counter y")
(if) Rather: 2 is certainly M09, but 2»n 1n,
(iii) Explanation: if he admits to “2”, the 90w supports him;
(iv) Alternatively: denying the amount in the 90w is denying a debt related to yp7p = no nyaw
4 Version #2 of the challenge: from ™ (to nww )
(a) Inference: only because he admitted to “3” is he exempt as n7aR 2>wn; had he said “2” he’d be amn
(i) And: confirming the validity of the 70w is akin to 79n; nonetheless he is 27n
(b) Defense: even had he said “2”, he’s still be exempt; “3” was picked to counter X"2w1 who considers
him nyvn n¥pna nmn (and 2n); rather, he is considered nTar 22w (and 71va)
(i) Support: were he to be liable if he said “2”, he would lie and say “3” to exempt himself
(c) Summary: ®n "1is challenged here
(d) Defense: this case is different, as the 70w supports him
(e) Alternatievely: denying the amount in the 70w is denying a debt related to ypap = no ny1aw
v Challenge (277's son):
1 If: the yain claims ypp 095 & the yam admits to all the 0’93, or some of all of the mypip — exempt
2 However: if he admits to some (but not all) of the 93 — 2»n
(a) Implication: he’s only exempt in those cases because an oath cannot be taken on ypp
(i) But:if it were 0’3 and 0’93 that were “like” Yyp7p, he’d be liable
1. Suggested meaning: 12> (just like ypp is always present and available) = 2»n 79n
(b) Rejection: inference is incorrect; in such a case, he’d still be exempt
(c) Rather: mypap 091 is teaching that if he is liable (for admitting to some of the 1’53), he is now liable
to swear regarding the land as well
(i) Challenge: we have already been taught that 1v5on can “drag” ypap into an oath (n:X PWV11p)
(if) Amswer: it is just being taught incidentally here (in "7, it is an explicit ruling)
vi Note: according to nvw "), why does text need to exclude yp1p from oaths — all ypap is 720
1  Answer: in case he harmed land (dug holes etc.) or (in our case above) he admitted to n’55 but not ypp
vii Challenge: n"a7 ruled that D»1mw must deny part and admit to part for liability for o mwn ny1aw
1 Suggestion: doesn’t this mean that he says 75’n (the part he admits — he hands over)
2 Rejection: case where (e.g.) the claim is for the 3 cows entrusted; response is that 1 0”119, 1 died o1ra
and the other died due to neglect and he owes for 1. (no 1>n)
II  Challenge to ®»n "v’s earlier ruling: Xn»»a directly disagrees, citing v. 1 (defense: ®»n "1 is also a Xin and may disagree)
a  Positions: Rn»1a reads X0 as including n¥pna n1in and nr as excluding o7y nRTYN
b But: X»n’1reads & as including n¥pna nTn and n1 as requiring NIyon PRn IRTIN
i xnmaagrees with 31 who doesn’t require nayvn pnn nrMA; if A claims non and B admits to omyw —a»n
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